Best model for HELP J142707.293+323923.553 at z = 3.894 x?=0.65
OPTx?=0.39 IRx?=2.39 threshold (OPT IR)=39.15 [um]

2 g
10 Stellar attenuated
] T Stellar unattenuated
101 E . m —— Dust emission
. —— AGN emission
] . = Model spectrum
100 3 . ® Model fluxes
] \ [ Observed fluxes
1071 4
= §
é 102 el W
% 1) [yal -\
= 1073 - | 0
] m 3
1074 E
1075 1
] |||m
307° 4 (
= 1 E i
Tju ] i | == (Obs-Mod)/Obs
3 ] /
EEy JRVIWE R O —
° ] |
2 ]
E—l‘ T T — T T T
cqé 100 10! 102 103 104 10°

Observed wavelength [um]



